Comment: To decide if a system is consistent, reduce it to REF. To solve a system, reduce it to RREF.

Definition: Given $\{\vec{v}_1, \vec{v}_2, \dots, \vec{v}_n\}$, consider solutions to $c_1\vec{v}_1 + c_2\vec{v}_2 + \dots + c_n\vec{v}_n = \vec{0}$. If the only solution is $c_1 = c_2 = \dots = c_n = 0$ then the set of vectors is **linearly independent**. If there are solutions other than $c_1 = c_2 = \dots = c_n = 0$ then the set of vectors is **linearly dependent**.

only solution is $C_1V_1 + C_2V_2 + ... + C_nV_n = 0$ only solution is $C_1 = C_2 = ... = (n = 0)$ and infinitely-many other solution

Vectors are

linearly independent "

Vectors are

linearly dependent"

Comment: The two sentences below mean the same thing: Vectors $\vec{v}_1, \vec{v}_2, \dots, \vec{v}_n$ are linearly independent. The set $\{\vec{v}_1, \vec{v}_2, \dots, \vec{v}_n\}$ is linearly independent.

Comment: The two sentences below mean the same thing: Vectors $\vec{v}_1, \vec{v}_2, \ldots, \vec{v}_n$ are linearly dependent. The set $\{\vec{v}_1, \vec{v}_2, \ldots, \vec{v}_n\}$ is linearly dependent.

Comment: a)
$$\left\{ \begin{bmatrix} 0 \\ 1 \end{bmatrix}, \begin{bmatrix} 2 \\ 4 \end{bmatrix}, \begin{bmatrix} 2 \\ 7 \end{bmatrix} \right\}$$
 is linearly dependent.

$$3\begin{bmatrix}0\\1\end{bmatrix} + 1\begin{bmatrix}2\\4\end{bmatrix} - \begin{bmatrix}2\\7\end{bmatrix} = \begin{bmatrix}0\\0\end{bmatrix}$$
at least one
nonzero Gefficient

b) $\begin{bmatrix} 1 \\ 0 \end{bmatrix}$, $\begin{bmatrix} 1 \\ 1 \end{bmatrix}$, $\begin{bmatrix} 3 \\ 3 \end{bmatrix}$ are linearly dependent.

$$0 \begin{bmatrix} 1 \\ 0 \end{bmatrix} + 3 \begin{bmatrix} 1 \\ 1 \end{bmatrix} - \begin{bmatrix} 3 \\ 3 \end{bmatrix} = \begin{bmatrix} 0 \\ 0 \end{bmatrix}$$
at least one
where Getheriest

c) $\begin{bmatrix} 0 \\ 0 \end{bmatrix}$ and $\begin{bmatrix} 1 \\ 2 \end{bmatrix}$ are linearly dependent.

Intritive definition:

Vectors are linewly dependent exactly when at least one
of them can be written as a linew Embination of the others.

Example: Are
$$\begin{bmatrix} 1 \\ 1 \\ 0 \end{bmatrix}$$
, $\begin{bmatrix} 1 \\ 0 \\ -1 \end{bmatrix}$ and $\begin{bmatrix} 0 \\ 0 \\ 2 \end{bmatrix}$ linearly independent?

Let $(1, \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix}) + (2, \begin{bmatrix} 1 \\ 0 \\ -1 \end{bmatrix}) + (3, \begin{bmatrix} 0 \\ 0 \\ 2 \end{bmatrix}) = \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 1 & 1 & 0 & 0 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 1 & 1 & 0 & 0 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 1 & 1 & 0 & 0 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$
 $\begin{bmatrix} C_1 & C_2 & C_3 \\ 0 & -1 & 2 & 0 \end{bmatrix}$

Test Review

Ex: Find the distance between P = (6,1,2) and the line $\vec{x} = \begin{bmatrix} 8 \\ -2 \end{bmatrix} + t \begin{bmatrix} 3 \\ 2 \end{bmatrix}$. P = (6,1,2)

A = (8, -7, 1)

AP - Prój J AP

A Z AR

 $\overrightarrow{AP} = \begin{bmatrix} -2\\ 3\\ 1 \end{bmatrix} \qquad \overrightarrow{d} = \begin{bmatrix} 3\\ 2\\ 1 \end{bmatrix}$

 $P^{n}j_{\vec{d}}\vec{AP} = \frac{\vec{J} \cdot \vec{AP}}{\|\vec{d}\|^{2}}\vec{d}$

$$= \frac{1}{14} \begin{bmatrix} 37\\2\\1 \end{bmatrix}$$

$$\frac{1}{AP} - Pnj_{d} = \frac{14}{14} \begin{bmatrix} -27 \\ -31 \end{bmatrix} - \frac{1}{14} \begin{bmatrix} \frac{3}{2} \\ 13 \end{bmatrix} \\
= \frac{1}{14} \begin{bmatrix} -31 \\ 40 \\ 13 \end{bmatrix} \parallel \\
= \frac{1}{14} \begin{bmatrix} -31 \\ 40 \\ 13 \end{bmatrix} \parallel \\
= \frac{1}{14} \begin{bmatrix} -31 \\ 40 \\ 13 \end{bmatrix} \parallel \\
= \sqrt{2736} \\
\boxed{14}$$

Ex: Let
$$\vec{a} = [2,3]$$
 and $\vec{b} = [4,-6]$.

Find the angle between

 $\vec{c} = \vec{a} + 7\vec{b}$ and $\vec{d} = \vec{a} - 2\vec{b}$.

 $\vec{c} = [2,3] + 7[4,-6]$
 $= [2,3] + [28,-42]$
 $= [30,-39]$
 $\vec{d} = [2,3] - 2[4,-6]$
 $= [2,3] + [-8,12]$
 $= [-6,15]$
 $\vec{u} \cdot \vec{v} = ||\vec{u}|| ||\vec{v}|| ||Gs\theta$
 $\vec{c} \cdot \vec{d} = ||\vec{c}|| ||\vec{d}|| ||Gs\theta$

Ex: Find the general form of the plane through A = (8,0,-2), B = (-7,-40,-37) and (=(3,-3,-3).

$$\vec{A}\vec{B} = [-15, -40, -35]$$
 $\vec{A}\vec{C} = [-5, -3, -1]$

$$T_{1} = ACXAB$$

$$= (65, -160, 155)$$

$$-5 - 3 - 1 - 5 - 3$$

$$-15 - 40 - 35 - 15 - 40$$

Ex: Let
$$u = \begin{bmatrix} x \\ y \end{bmatrix}$$
 and $v = \begin{bmatrix} y \\ y \end{bmatrix}$.
Find the value(s) of x if:

a) $v = \begin{bmatrix} x \\ y \end{bmatrix} = k \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = k \begin{bmatrix} y \\ y \end{bmatrix} = k \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = k \begin{bmatrix} y \\ y \end{bmatrix} = k \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = k \begin{bmatrix} y \\ y \end{bmatrix} = k \begin{bmatrix} y \\ y \end{bmatrix}$

b) $v = \begin{bmatrix} y \\ y \end{bmatrix} = k \begin{bmatrix} y \\ y \end{bmatrix} = k \begin{bmatrix} y \\ y \end{bmatrix}$

b) $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

1. $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

1. $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

1. $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd Emporent: $v = \begin{bmatrix} y \\ y \end{bmatrix} = v = \begin{bmatrix} y \\ y \end{bmatrix}$

2nd

ASIDE

Area of parallelogram determined by:

a) [2,3] and [4,19]

[2,3,1] and [4,19,2]

[2,3,1] x [4,19,2]